33 (og:8l)
XO(7938>
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4.5 Properties of Logarithms - Cont.

, -
— of pobe. ,,
k:? . = J

LOGARITHM & .

lues



REVIEW - Evaluate. ’ lﬂe-— \ * [n] =

2 log, 125 = 2 ) log;1= (/ o
»log,3 = ‘13 1 (])2 g
gl’l‘ 084 2
)
cé]ne8 g 3 g) 7lzls = 5
Ine

QD 1003 O

d) log1000 = > h)310g0.01-21Ine+(logl
3(-2) =& +(



ex: Between which two consecutive integers does each
value lie?

a) log, 7 / K
70920‘//992'7 < %

= m
b) log 5 2 lsas < g (O
\o% D9 °3®




REVIEW - Expand.

) ln(l Oi.‘) C.) ]00) NX-T
S 1000 | ‘2’ L ({—q)
lnx—ln IO‘ n 23 U%
S|y —=Inlo= <1 ~Jinz (x+D)x—
b) 10g3m li[l))ﬁ y (X“)"’ | M}(Xﬂ
|



REVIEW - Expand.

A log, Vx* -9



REVIEW - Condense.
a) 3Inx-5In(y+z)+4In20 4
lmf—ln(irz)sﬂn AV
In[2 20
T +z>‘> —
0 e a; JD%@

b) log;a-4log,b-2

oge - $logc b= Jogs®S
o
/ Dgg ( OSS




ex: Evaluate.

a) log, 54 -log,?2

32 3
b) log, (?)+ log4(z)



ex: Evaluate.

< 9|0gq 20-log, 4

d) 9Iog35

e) zlog_,_ 15+log, 9



ex: Let

x=log?2 y=log3 z=log7

Rewrite each expression in terms of x, y and z.

a) logld — /0327
X + Z



ex: Let * ' = l%’o 2—‘-— ‘Dﬂ 1
x=log?2 y=log3 z=log7

(-—-—_‘

Rewrite each expression in terms of x, y and z. 5 = 2(.]3

b) log 243 9 log30§ d) log5 —

}O 3 03 5 J 02
51093 /033-(—10310 g %

Sy JF| | - X



ex: Let JU@;}Q - , ]Dg’-LI - 1

log,3=~1.585 log, 5=2.322

Approximate each expression.

a) log, 15 b) log, 20

097_% 5> ,V@Lg >

Jpgz“sﬂoazg W@ i *lvgzg
3.907\ 2 Vg2 0872
- >+ad o



Change of Base Formula

109 X
l0ga b

AR ] {
a : any valia 109 base
***Change of base formula is NOT used to expand or
condense*™*

log, x =




ex: Rewrite using common or natural logarithms.
Then evaluate on your calculator.

a) log,11 — /Dﬁ ”# /082_8 TI:%L
109 9.
3,454

b) log,25 = ’(7525,9( Jn;lg __QO]50
g2 7



ex: Evaluate.
Shs]pg,9 = 2

In2

5, log64 )V@;,Q({ = b

log?2

= |
log, 5 )‘79\7’5 g

log, 125

9




4.5 Extra Practice WKST



